
  

highway=primary

highway=primary
maxspeed=30

highway=primary
maxspeed=60
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0x03 ok 
road_speed=1 not ok (should be 2 different roads with 1 and 4)
road_class=3 ok
2 lines are merged what should not happen here as they do not have 
the same maxsped value

0x03 ok 
road_speed=3 ok
road_class=3 ok

0x03 ok 
road_speed=1 not ok (should be 4)
road_class=3 ok

0x03 ok 
road_speed=4 ok
road_class=3 ok

-2602 - [road-speed-max=4,mkgmap:city=Obersontheim,mkgmap:postcode=74423,mkgmap:
admin_level2=DEU,mkgmap:admin_level4=Baden-W³rttemberg,mkgmap:admin_level5=Regie
rungsbezirk Stuttgart,mkgmap:admin_level6=Landkreis Schwõbisch Hall,mkgmap:admin
_level8=Obersontheim,mkgmap:region=Baden-W³rttemberg,highway=primary,mkgmap:coun
try=DEU] Wrong roadspeed?



  

Relevant rules:

highway=primary {set road-speed-max=4}
highway=primary                    [0x03 road_class=3 road_speed=4 level 4]

maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() > 130 { set mkgmap:road-speed-class = 7 }
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() > 100 { set mkgmap:road-speed-class = 6 }
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() >  90 { set mkgmap:road-speed-class = 5 }
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() >  70 { set mkgmap:road-speed-class = 4 }
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() >  50 { set mkgmap:road-speed-class = 3 }
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() >  30 { set mkgmap:road-speed-class = 2 }
# change class 1 to 10 km/h which is not correct but better handles living_streets with maxspeed=7
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh() >  15 { set mkgmap:road-speed-class = 1 }
maxspeed=* & mkgmap:road-speed-class!=* & maxspeedkmh()=*     { set mkgmap:road-speed-class = 0 }

highway=* { echotags "Wrong roadspeed?" }

The hot question is:
Why does a „highway=primary“ with no further tag, become a road_speed=1 in the img file?
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